LESSON NUMBER:
17

TASK:
Concepts of Culture

STANDARD:
1.  Define culture, subculture, and enculturation.



2.  Discuss attributes and non-attributes of culture.



3.  Discuss the concept of race and ethnic group.



4.  Discuss the implications of cross-cultural interactions.



5.  Discuss the pitfalls in cross-cultural interactions.

1.  Culture is defined as the __________ and shared behaviors and perceptions of a group, which have been transmitted from generation to generation, through a shared symbol system.

2.  A subculture is a group of people within a larger social structure who share __________ and __________ characteristics, which are different enough to distinguish it from others within the same society.

3.  Enculturation is the passing of culture - that is socially acceptable behaviors and attitudes - from the older to the younger members of a group. 

4.  Five attributes of culture:


a.  __________.  The process and method by which individuals transmit their values, beliefs, and perceptions.


b.  __________.  Those behaviors, people, things, and ideas that are considered central to a given culture.

c.  __________. Judgments or expectations that a person might have about certain things.


d.  _______________.  The ways we reach conclusions, make deductions, and solve problems.


e.  _______________.  Patterns of behaving which represent the norms for a culture.

5.  Nonattributes of culture:


a.  __________.

b.  __________.

c.  __________.

6.  Implications of cross-cultural interactions:


a.  _______________________.


b.  _______________________.


c.  _______________________.


d.  _______________________.


e.  _______________________.


f.   _______________________.


g.  _______________________.

7. PITFALLS OF CROSS-CULTURAL INTERACTIONS:


a.  ________________.


b.  ________________.

STUDENT HANDOUT #17-1

A SUMMARY OF THE WORLD

If we could, at this time, shrink the Earth’s population to a village of precisely 100 people, with all existing human ratios remaining the same, it would look like this:

- There would be 57 Asians, 21 Europeans, 14 from the Western Hemisphere, and 8 Africans (North and South)

- 70 would be non-white; 30 white

- 70 would be non-Christian; 30 Christian

- 50% of the entire world’s wealth would be in the hands of only 6 people.  All six would be citizens of the United States.

- 70 would be unable to read

- 50 would suffer from malnutrition

- 80 would live in sub-standard housing 

- Only 1 would have a college education

When one considers our world from such an incredibly compressed perspective, the need for both appreciation and understanding becomes glaringly apparent.
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